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QUESTION 1
Block Timestamp:

A. the timestamp is based on the time zone of the miner, that is why it changes the difficulty continuously to reflect
network latency.

B. the timestamp can\\'t be influenced by a miner and is generally considered safe to be used for randomness on the
blockchain.

C. the timestamp can be influenced by a miner to a certain degree but it\\'s always independent from the time-zone.

Correct Answer: C

QUESTION 2

Hashing Mining uses:

A. Keccack256 while internally to hash values it\\'s easy to use the Dagger-Hashimoto to create a meaningful hash.
B. the Dagger-Hashimoto hashing while internally the EVM uses SHA256 which is an alias for Keccack256.

C. the Dagger-Hashimoto hashing while internally the EVM uses Keccack256 which is almost similar to SHA256, but
has a different padding so produces different hashes.

Correct Answer: C

QUESTION 3

Truffle has an integrated in-memory blockchain which makes unit-testing very easy:
A. True, but it\\'s still good to use Ganache, or even a real private network for testing.
B. False, it\\'s necessary to use Ganache or even a real private network for testing.

Correct Answer: A

QUESTION 4

You interact with a smart contract and see a gas usage of 50,000 gas with a gas cost of 15Gwei. How much Ether
would you have to pay to the miner?

A. 750,000,000,000,000 Wei
B. 750,000,000,000 Wei
C. 750,000,000 Wei

D. A flat fee of 1 Ether
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Correct Answer: A

QUESTION 5

Having a bug-bounty program early on:

A. can help to engage the community in testing your smart contracts and therefore help to find bugs early.
B. might be a burden as it is an administrative overhead mainly.

C. is completely useless. Who wants to test beta-ware software? It\\'s better to start with the bug-bounty program after
the contract is released on the main-net.

Correct Answer: A
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